Resources for the TEKLA curriculum at Junior Secondary
Topic 6  Simple & Compound Interests and TVM
Strategies and Management – Extension Learning Element

Module E4 Resources Management

Section A: Multiple Choice Questions (@1, total 10 marks)
1. You have $22,000 in a savings account that pays 3% simple interest per annum. How much interest will you earn in 2 years?

A. $660.

B. $679.80.

C. $1,320.

D. $1,339.80.
Level of difficulty: *

2. You have $27,000 in a savings account that pays 4% simple interest per annum. How much interest will you earn if you withdraw the money after 8 months?

A. $720.

B. $810.

C. $1,080.

D. $1,620.

Level of difficulty: **
3. What is the principal that gives an interest of $6,000 over 3 years at 5% simple interest per annum?

A. $18,000.

B. $40,000.

C. $80,000

D. $120,000.

Level of difficulty: **
4. The face value of a bond is $10,000 with a simple interest rate of 4% per annum and is paid every six months.  How much is the interest for each payment?

A. $100.

B. $200.

C. $400.

D. $800.

Level of difficulty: ***
5. Your deposit of $25,000 is currently paying a compound interest rate of 6% per year.  What will be the interest earned (to the nearest dollar) 4 years later?

A. $6,562.

B. $9,600.
C. $10,499

D. $49,600.

Level of difficulty: **
6. Find the compound interest (to the nearest dollar) for a bond with face value $10,000 at 3% interest for 6 years if interest is compounded biannually.

A. $10,900.

B. $11,800.

C. $11,941.

D. $11,956.

Level of difficulty: ***
7. What is the present value (to the nearest dollar) of the principal that gives $50,000 at a compound interest rate of 4% in 4 years?
A. $42,467.

B. $42,740.

C. $43,122.

D. $44,740.
Level of difficulty: **
8. What is the reason for one dollar today which is worth more than that in future?

A. Appreciation.

B. Foreign exchange.

C. Deflation.

D. Interest.

Level of difficulty: **
9. What is the future value (to the nearest dollar) of a principal of $18,000 at an interest rate of 6% p.a. after 5 years?

A. $23,400.

B. $24,400.

C. $24,088.
D. $26,024.
Level of difficulty: ***
10. The larger the discount rate, the _________ the present value is.
A. lower.

B. higher.
C. same.

D. unknown.
Level of difficulty: **
Section B: Short Questions (20 marks)
	**
	1. 
	An item is on sale with 25% off the regular price.  After discount the price is $2,820. 

a) What is the regular price? 

b) What is the amount of the discount? 


	(3 marks) 
(3 marks)

	
	
	
	

	***
	2. 
	A term deposit of $36,000 is deposited in bank at 4% interest rate for 5 years and the interest is compounded daily.  What is the total amount (to the nearest dollar) in the bank after 5 years later?
	(4 marks)

	
	
	
	

	***
	3. 
	You want to buy a smartphone and the seller offers you either to pay $5,000 by cash now or make three payments: $3,000 now, $1,100 at the end of year 1 and $1,150 at the end of year 2.  If the interest rate is 4%, which method do you prefer?  Why?
	(10 marks)


Suggested Solutions

Section A: MCQs

	1. C
	2. A
	3. B
	4. B
	5. A

	6. D
	7. B
	8. D
	9. C
	10. A


Section B: Short Questions.
	Question 1

a) Regular price = $2,820 / (1 – 25%) = $3,760.

b) Discount = $3,760 - $2,820 = $940.


	(@3, total 6 marks)


	
	

	Question 2
$36,000 x (1 + 4%/365)^1,825 = $43,970


	(4 marks)

	
	

	Question 3

PV (by instalments) = $3,000 + $1,100/1.04 + $1,150/1.04^2 = $5,121 

PV (full payment) = $5,000

It is better to pay now because it is $121 more if paying by instalments. 


	(4 marks) 
(1 mark)
(5 marks)


Classwork/Home Assignment  P.5

